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 rebinningµν

 = 1.000µAsimov, 

 = 0.057σ = 0.994 µRebin: 

 = 0.064σ = 0.998 µRebin2: 

 = 0.058σ = 0.990 µNom: 
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 = 0.051σ = 0.994 µRebin: 
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 = 0.044σ = 0.997 µRebin: 

 = 0.047σ = 1.000 µRebin2: 

 = 0.046σ = 0.997 µNom: 
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 = 0.037σ = 1.001 µRebin: 

 = 0.040σ = 0.999 µRebin2: 
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 = 1.000µAsimov, 

 = 0.039σ = 0.999 µRebin: 

 = 0.042σ = 0.996 µRebin2: 

 = 0.042σ = 0.997 µNom: 
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 = 1.000µAsimov, 

 = 0.040σ = 0.990 µRebin: 

 = 0.043σ = 0.991 µRebin2: 

 = 0.041σ = 0.991 µNom: 
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 = 0.042σ = 0.990 µRebin: 

 = 0.042σ = 0.986 µRebin2: 

 = 0.042σ = 0.985 µNom: 
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 = 0.041σ = 0.981 µRebin: 

 = 0.043σ = 0.982 µRebin2: 

 = 0.042σ = 0.981 µNom: 
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 = 1.000µAsimov, 

 = 0.045σ = 0.975 µRebin: 

 = 0.049σ = 0.972 µRebin2: 

 = 0.046σ = 0.973 µNom: 
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 = 0.077σ = 0.999 µRebin: 

 = 0.082σ = 0.999 µRebin2: 

 = 0.075σ = 0.989 µNom: 
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 = 0.053σ = 1.000 µRebin: 

 = 0.059σ = 1.005 µRebin2: 

 = 0.057σ = 0.998 µNom: 
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 = 1.000µAsimov, 
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 = 0.057σ = 1.001 µNom: 
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 = 0.064σ = 0.996 µNom: 
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 = 0.068σ = 0.985 µRebin2: 

 = 0.067σ = 0.992 µNom: 
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 = 0.049σ = 0.991 µNom: 
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 = 0.050σ = 0.995 µNom: 
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 = 0.049σ = 0.996 µNom: 
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 = 0.050σ = 0.996 µRebin2: 

 = 0.049σ = 0.992 µNom: 
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 = 0.056σ = 0.989 µRebin2: 

 = 0.053σ = 0.986 µNom: 
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 = 0.040σ = 0.985 µRebin: 

 = 0.045σ = 0.984 µRebin2: 

 = 0.043σ = 0.983 µNom: 
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 = 1.000µAsimov, 

 = 0.058σ = 0.988 µRebin: 

 = 0.064σ = 0.978 µRebin2: 

 = 0.063σ = 0.982 µNom: 
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 = 0.056σ = 0.991 µRebin: 

 = 0.059σ = 0.989 µRebin2: 

 = 0.059σ = 0.989 µNom: 
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 = 1.000µAsimov, 

 = 0.127σ = 0.991 µRebin: 

 = 0.130σ = 0.979 µRebin2: 

 = 0.133σ = 0.993 µNom: 
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 = 0.069σ = 0.999 µRebin: 

 = 0.073σ = 0.999 µRebin2: 

 = 0.069σ = 0.992 µNom: 
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 = 0.047σ = 0.996 µRebin: 

 = 0.050σ = 0.999 µRebin2: 

 = 0.049σ = 0.997 µNom: 
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 = 1.000µAsimov, 

 = 0.045σ = 0.997 µRebin: 

 = 0.050σ = 0.999 µRebin2: 

 = 0.047σ = 0.996 µNom: 
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 = 1.000µAsimov, 

 = 0.048σ = 0.990 µRebin: 

 = 0.051σ = 0.991 µRebin2: 

 = 0.051σ = 0.989 µNom: 
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 = 1.000µAsimov, 

 = 0.040σ = 0.984 µRebin: 

 = 0.042σ = 0.985 µRebin2: 

 = 0.041σ = 0.983 µNom: 
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 = 0.064σ = 0.998 µRebin: 

 = 0.071σ = 0.998 µRebin2: 

 = 0.064σ = 0.990 µNom: 
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 = 0.057σ = 1.000 µRebin2: 

 = 0.054σ = 0.997 µNom: 
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 = 0.051σ = 1.001 µRebin2: 

 = 0.047σ = 0.996 µNom: 
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 = 1.000µAsimov, 

 = 0.039σ = 0.998 µRebin: 

 = 0.043σ = 1.000 µRebin2: 

 = 0.040σ = 0.995 µNom: 
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 rebinningµν

 = 1.000µAsimov, 

 = 0.046σ = 0.999 µRebin: 

 = 0.052σ = 0.995 µRebin2: 

 = 0.050σ = 0.988 µNom: 
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 = 0.048σ = 0.997 µRebin: 

 = 0.052σ = 0.989 µRebin2: 

 = 0.051σ = 0.986 µNom: 
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 = 0.045σ = 0.989 µRebin: 

 = 0.048σ = 0.988 µRebin2: 

 = 0.048σ = 0.985 µNom: 
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 = 0.047σ = 0.990 µRebin: 

 = 0.051σ = 0.988 µRebin2: 

 = 0.049σ = 0.982 µNom: 
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 = 0.068σ = 0.975 µRebin: 

 = 0.067σ = 0.972 µRebin2: 

 = 0.066σ = 0.977 µNom: 
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 = 0.058σ = 0.983 µRebin: 

 = 0.061σ = 0.980 µRebin2: 

 = 0.061σ = 0.980 µNom: 
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 = 1.000µAsimov, 

 = 0.105σ = 0.980 µRebin: 

 = 0.104σ = 0.976 µRebin2: 

 = 0.105σ = 0.973 µNom: 
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 = 0.047σ = 0.989 µRebin: 

 = 0.052σ = 0.990 µRebin2: 

 = 0.051σ = 0.988 µNom: 
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 = 0.070σ = 0.988 µRebin: 

 = 0.075σ = 0.984 µRebin2: 

 = 0.073σ = 0.986 µNom: 
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 = 0.051σ = 0.997 µRebin: 

 = 0.058σ = 0.998 µRebin2: 

 = 0.052σ = 0.991 µNom: 
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 rebinningµν

 = 1.000µAsimov, 

 = 0.043σ = 0.997 µRebin: 

 = 0.050σ = 1.000 µRebin2: 

 = 0.046σ = 0.992 µNom: 
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 = 1.000µAsimov, 

 = 0.055σ = 0.997 µRebin: 

 = 0.060σ = 1.000 µRebin2: 

 = 0.056σ = 0.990 µNom: 
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 = 1.000µAsimov, 

 = 0.046σ = 0.996 µRebin: 

 = 0.051σ = 0.997 µRebin2: 

 = 0.051σ = 0.986 µNom: 
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 = 0.065σ = 0.995 µRebin: 

 = 0.068σ = 0.994 µRebin2: 

 = 0.066σ = 0.985 µNom: 
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 = 0.070σ = 0.991 µRebin: 

 = 0.071σ = 0.987 µRebin2: 

 = 0.071σ = 0.986 µNom: 
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 = 0.144σ = 0.994 µRebin: 

 = 0.138σ = 0.979 µRebin2: 

 = 0.142σ = 0.983 µNom: 
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 = 0.058σ = 0.995 µRebin: 

 = 0.065σ = 0.998 µRebin2: 

 = 0.059σ = 0.990 µNom: 
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 = 0.060σ = 0.997 µRebin2: 

 = 0.059σ = 0.994 µNom: 
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 = 0.045σ = 0.996 µRebin: 

 = 0.050σ = 1.000 µRebin2: 

 = 0.048σ = 0.996 µNom: 
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 = 1.000µAsimov, 

 = 0.038σ = 1.000 µRebin: 

 = 0.042σ = 1.002 µRebin2: 

 = 0.038σ = 0.998 µNom: 
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 = 0.038σ = 1.001 µRebin: 

 = 0.042σ = 0.998 µRebin2: 

 = 0.042σ = 0.999 µNom: 
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 = 0.043σ = 0.996 µRebin2: 

 = 0.042σ = 0.994 µNom: 
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 = 0.039σ = 0.990 µRebin: 

 = 0.043σ = 0.992 µRebin2: 

 = 0.041σ = 0.991 µNom: 
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 = 0.047σ = 0.989 µRebin2: 

 = 0.042σ = 0.988 µNom: 
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 = 0.041σ = 0.990 µRebin: 

 = 0.043σ = 0.987 µRebin2: 

 = 0.042σ = 0.986 µNom: 
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 = 1.000µAsimov, 

 = 0.042σ = 0.983 µRebin: 

 = 0.042σ = 0.983 µRebin2: 

 = 0.042σ = 0.979 µNom: 
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b_60

 rebinningµν

 = 1.000µAsimov, 

 = 0.049σ = 0.975 µRebin: 

 = 0.054σ = 0.971 µRebin2: 

 = 0.051σ = 0.973 µNom: 
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 = 1.000µAsimov, 

 = 0.077σ = 0.998 µRebin: 

 = 0.082σ = 0.999 µRebin2: 

 = 0.074σ = 0.988 µNom: 
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 rebinningµν

 = 1.000µAsimov, 

 = 0.043σ = 0.998 µRebin: 

 = 0.048σ = 1.003 µRebin2: 

 = 0.049σ = 0.999 µNom: 
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 rebinningµν

 = 1.000µAsimov, 

 = 0.057σ = 0.997 µRebin: 

 = 0.060σ = 1.000 µRebin2: 

 = 0.062σ = 0.998 µNom: 
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 rebinningµν

 = 1.000µAsimov, 

 = 0.069σ = 0.995 µRebin: 

 = 0.067σ = 0.997 µRebin2: 

 = 0.072σ = 0.994 µNom: 
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 rebinningµν

 = 1.000µAsimov, 

 = 0.064σ = 0.987 µRebin: 

 = 0.068σ = 0.982 µRebin2: 

 = 0.068σ = 0.994 µNom: 

b_65
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b_66

 rebinningµν

 = 1.000µAsimov, 

 = 0.046σ = 0.994 µRebin: 

 = 0.053σ = 0.997 µRebin2: 

 = 0.048σ = 0.991 µNom: 

b_66
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 rebinningµν

 = 1.000µAsimov, 

 = 0.043σ = 0.995 µRebin: 

 = 0.048σ = 0.998 µRebin2: 

 = 0.047σ = 0.993 µNom: 

b_67
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b_68

 rebinningµν

 = 1.000µAsimov, 

 = 0.041σ = 0.995 µRebin: 

 = 0.046σ = 0.998 µRebin2: 

 = 0.044σ = 0.995 µNom: 
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b_69

 rebinningµν

 = 1.000µAsimov, 

 = 0.037σ = 0.995 µRebin: 

 = 0.040σ = 0.996 µRebin2: 

 = 0.039σ = 0.992 µNom: 
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b_70

 rebinningµν

 = 1.000µAsimov, 

 = 0.039σ = 0.989 µRebin: 

 = 0.044σ = 0.988 µRebin2: 

 = 0.041σ = 0.986 µNom: 
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 rebinningµν

 = 1.000µAsimov, 

 = 0.040σ = 0.988 µRebin: 

 = 0.044σ = 0.984 µRebin2: 

 = 0.043σ = 0.984 µNom: 
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 rebinningµν

 = 1.000µAsimov, 

 = 0.058σ = 0.985 µRebin: 

 = 0.064σ = 0.977 µRebin2: 

 = 0.063σ = 0.981 µNom: 

b_72
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 rebinningµν

 = 1.000µAsimov, 

 = 0.053σ = 0.991 µRebin: 

 = 0.057σ = 0.990 µRebin2: 

 = 0.057σ = 0.989 µNom: 

b_73
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b_74

 rebinningµν

 = 1.000µAsimov, 

 = 0.115σ = 0.994 µRebin: 

 = 0.119σ = 0.980 µRebin2: 

 = 0.121σ = 0.993 µNom: 
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 rebinningµν

 = 1.000µAsimov, 

 = 0.068σ = 0.999 µRebin: 

 = 0.072σ = 0.999 µRebin2: 

 = 0.067σ = 0.991 µNom: 

b_75
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 rebinningµν

 = 1.000µAsimov, 

 = 0.050σ = 0.996 µRebin: 

 = 0.050σ = 0.997 µRebin2: 

 = 0.050σ = 0.995 µNom: 

b_76
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 rebinningµν

 = 1.000µAsimov, 

 = 0.042σ = 0.996 µRebin: 

 = 0.049σ = 0.999 µRebin2: 

 = 0.044σ = 0.997 µNom: 
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b_78

 rebinningµν

 = 1.000µAsimov, 

 = 0.047σ = 0.990 µRebin: 

 = 0.052σ = 0.992 µRebin2: 

 = 0.051σ = 0.993 µNom: 

b_78
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b_79

 rebinningµν

 = 1.000µAsimov, 

 = 0.047σ = 0.984 µRebin: 

 = 0.048σ = 0.984 µRebin2: 

 = 0.047σ = 0.985 µNom: 

b_79
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b_80

 rebinningµν

 = 1.000µAsimov, 

 = 0.065σ = 0.998 µRebin: 

 = 0.072σ = 0.999 µRebin2: 

 = 0.064σ = 0.990 µNom: 

b_80
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b_81

 rebinningµν

 = 1.000µAsimov, 

 = 0.053σ = 0.996 µRebin: 

 = 0.060σ = 1.000 µRebin2: 

 = 0.057σ = 0.996 µNom: 

b_81



0.5 0.6 0.7 0.8 0.9 1 1.1 1.2 1.3 1.4 1.5
0

20

40

60

80

100

120

140

160

180

310×
b_82

 rebinningµν

 = 1.000µAsimov, 

 = 0.046σ = 0.996 µRebin: 

 = 0.051σ = 1.003 µRebin2: 

 = 0.049σ = 0.998 µNom: 

b_82
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b_83

 rebinningµν

 = 1.000µAsimov, 

 = 0.038σ = 0.998 µRebin: 

 = 0.043σ = 1.002 µRebin2: 

 = 0.039σ = 0.997 µNom: 

b_83
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b_84

 rebinningµν

 = 1.000µAsimov, 

 = 0.050σ = 0.998 µRebin: 

 = 0.056σ = 0.994 µRebin2: 

 = 0.054σ = 0.986 µNom: 

b_84
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 rebinningµν

 = 1.000µAsimov, 

 = 0.047σ = 0.995 µRebin: 

 = 0.052σ = 0.991 µRebin2: 

 = 0.050σ = 0.986 µNom: 

b_85



0.5 0.6 0.7 0.8 0.9 1 1.1 1.2 1.3 1.4 1.5
0

20

40

60

80

100

120

140

160

180

200

310×
b_86

 rebinningµν

 = 1.000µAsimov, 

 = 0.045σ = 0.992 µRebin: 

 = 0.047σ = 0.988 µRebin2: 

 = 0.046σ = 0.984 µNom: 

b_86
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 rebinningµν

 = 1.000µAsimov, 

 = 0.048σ = 0.988 µRebin: 

 = 0.050σ = 0.990 µRebin2: 

 = 0.048σ = 0.985 µNom: 

b_87
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b_88

 rebinningµν

 = 1.000µAsimov, 

 = 0.061σ = 0.977 µRebin: 

 = 0.063σ = 0.975 µRebin2: 

 = 0.064σ = 0.980 µNom: 
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 rebinningµν

 = 1.000µAsimov, 

 = 0.058σ = 0.987 µRebin: 

 = 0.062σ = 0.982 µRebin2: 

 = 0.062σ = 0.980 µNom: 

b_89



0.5 0.6 0.7 0.8 0.9 1 1.1 1.2 1.3 1.4 1.5
0

10000

20000

30000

40000

50000

60000

70000

80000

90000

b_90

 rebinningµν

 = 1.000µAsimov, 

 = 0.102σ = 0.990 µRebin: 

 = 0.103σ = 0.986 µRebin2: 

 = 0.105σ = 0.980 µNom: 

b_90



0.5 0.6 0.7 0.8 0.9 1 1.1 1.2 1.3 1.4 1.5
0

20

40

60

80

100

120

140

160

180

310×
b_91

 rebinningµν

 = 1.000µAsimov, 

 = 0.046σ = 0.989 µRebin: 

 = 0.051σ = 0.990 µRebin2: 

 = 0.050σ = 0.987 µNom: 

b_91
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 rebinningµν

 = 1.000µAsimov, 

 = 0.066σ = 0.990 µRebin: 

 = 0.071σ = 0.985 µRebin2: 

 = 0.070σ = 0.986 µNom: 

b_92
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 rebinningµν

 = 1.000µAsimov, 

 = 0.052σ = 0.996 µRebin: 

 = 0.059σ = 0.997 µRebin2: 

 = 0.052σ = 0.990 µNom: 

b_93
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b_94

 rebinningµν

 = 1.000µAsimov, 

 = 0.045σ = 0.997 µRebin: 

 = 0.051σ = 0.999 µRebin2: 

 = 0.047σ = 0.992 µNom: 

b_94
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 rebinningµν

 = 1.000µAsimov, 

 = 0.047σ = 0.999 µRebin: 

 = 0.053σ = 1.001 µRebin2: 

 = 0.049σ = 0.993 µNom: 

b_95
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 rebinningµν

 = 1.000µAsimov, 

 = 0.040σ = 0.994 µRebin: 

 = 0.044σ = 0.995 µRebin2: 

 = 0.043σ = 0.989 µNom: 

b_96
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 rebinningµν

 = 1.000µAsimov, 

 = 0.051σ = 0.991 µRebin: 

 = 0.057σ = 0.988 µRebin2: 

 = 0.055σ = 0.987 µNom: 

b_97
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 rebinningµν

 = 1.000µAsimov, 

 = 0.066σ = 0.990 µRebin: 

 = 0.070σ = 0.986 µRebin2: 

 = 0.070σ = 0.987 µNom: 

b_98
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b_99

 rebinningµν

 = 1.000µAsimov, 

 = 0.141σ = 0.995 µRebin: 

 = 0.138σ = 0.979 µRebin2: 

 = 0.138σ = 0.983 µNom: 

b_99
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 rebinningµν

 = 0.958µAsimov, 

 = 0.033σ = 0.957 µRebin: 

 = 0.036σ = 0.955 µRebin2: 

 = 0.034σ = 0.956 µNom: 

xsec_0
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 rebinningµν

 = 1.028µAsimov, 

 = 0.077σ = 1.054 µRebin: 

 = 0.084σ = 1.068 µRebin2: 

 = 0.074σ = 1.040 µNom: 

xsec_1
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 rebinningµν

 = 0.270µAsimov, 

 = 0.192σ = 0.310 µRebin: 

 = 0.215σ = 0.359 µRebin2: 

 = 0.194σ = 0.305 µNom: 

xsec_2
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 rebinningµν

 = 1.000µAsimov, 

 = 0.267σ = 1.013 µRebin: 

 = 0.268σ = 1.036 µRebin2: 

 = 0.288σ = 1.045 µNom: 

xsec_3
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 rebinningµν

 = 1.000µAsimov, 

 = 0.087σ = 1.058 µRebin: 

 = 0.083σ = 1.057 µRebin2: 

 = 0.089σ = 1.074 µNom: 

xsec_4
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 rebinningµν

 = 0.270µAsimov, 

 = 0.259σ = 0.393 µRebin: 

 = 0.274σ = 0.436 µRebin2: 

 = 0.271σ = 0.458 µNom: 

xsec_5
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 rebinningµν

 = 1.000µAsimov, 

 = 0.260σ = 0.999 µRebin: 

 = 0.253σ = 0.994 µRebin2: 

 = 0.257σ = 1.015 µNom: 

xsec_6
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 rebinningµν

 = 1.000µAsimov, 

 = 0.547σ = 0.977 µRebin: 

 = 0.553σ = 0.994 µRebin2: 

 = 0.593σ = 1.093 µNom: 

xsec_7
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 rebinningµν

 = 1.000µAsimov, 

 = 0.054σ = 0.997 µRebin: 

 = 0.059σ = 0.995 µRebin2: 

 = 0.057σ = 0.990 µNom: 

xsec_8
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 rebinningµν

 = 1.000µAsimov, 

 = 0.048σ = 1.003 µRebin: 

 = 0.052σ = 1.007 µRebin2: 

 = 0.052σ = 1.011 µNom: 

xsec_9
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 rebinningµν

 = 1.000µAsimov, 

 = 0.125σ = 1.001 µRebin: 

 = 0.132σ = 0.975 µRebin2: 

 = 0.139σ = 0.988 µNom: 

xsec_10
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 = 1.000µAsimov, 

 = 0.030σ = 0.996 µRebin: 

 = 0.028σ = 0.999 µRebin2: 

 = 0.029σ = 0.998 µNom: 

xsec_11
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 rebinningµν

 = 1.000µAsimov, 

 = 0.030σ = 1.000 µRebin: 

 = 0.029σ = 1.001 µRebin2: 

 = 0.028σ = 1.001 µNom: 

xsec_12
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xsec_13

 rebinningµν

 = 0.000µAsimov, 

 = 0.183σ = -0.087 µRebin: 

 = 0.192σ = -0.090 µRebin2: 

 = 0.185σ = -0.097 µNom: 

xsec_13
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 rebinningµν

 = 1.000µAsimov, 

 = 0.229σ = 1.007 µRebin: 

 = 0.240σ = 1.021 µRebin2: 

 = 0.225σ = 1.030 µNom: 

xsec_14
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 rebinningµν

 = 1.000µAsimov, 

 = 0.229σ = 1.007 µRebin: 

 = 0.240σ = 1.021 µRebin2: 

 = 0.225σ = 1.030 µNom: 

xsec_15
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 = 1.000µAsimov, 

 = 0.305σ = 1.003 µRebin: 

 = 0.297σ = 0.987 µRebin2: 

 = 0.289σ = 1.038 µNom: 

xsec_16
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 = 1.000µAsimov, 

 = 0.644σ = 1.121 µRebin: 

 = 0.632σ = 1.104 µRebin2: 

 = 0.641σ = 1.140 µNom: 

xsec_17
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 = 1.000µAsimov, 

 = 0.150σ = 0.953 µRebin: 

 = 0.162σ = 0.963 µRebin2: 

 = 0.156σ = 0.953 µNom: 

xsec_18
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 rebinningµν

 = 1.000µAsimov, 

 = 0.271σ = 1.016 µRebin: 

 = 0.290σ = 0.989 µRebin2: 

 = 0.297σ = 0.991 µNom: 

xsec_19
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 = 0.000µAsimov, 

 = 0.134σ = 0.002 µRebin: 

 = 0.162σ = 0.017 µRebin2: 

 = 0.163σ = 0.005 µNom: 

xsec_20



1− 0.8− 0.6− 0.4− 0.2− 0 0.2 0.4 0.6 0.8 1
0

10000

20000

30000

40000

50000

xsec_21

 rebinningµν

 = 0.000µAsimov, 

 = 0.153σ = -0.021 µRebin: 

 = 0.175σ = -0.009 µRebin2: 

 = 0.184σ = -0.023 µNom: 

xsec_21



1− 0.8− 0.6− 0.4− 0.2− 0 0.2 0.4 0.6 0.8 1
0

5000

10000

15000

20000

25000

30000

35000

40000

xsec_22

 rebinningµν

 = 0.000µAsimov, 

 = 0.225σ = 0.026 µRebin: 

 = 0.263σ = 0.011 µRebin2: 

 = 0.269σ = 0.032 µNom: 

xsec_22



1− 0.8− 0.6− 0.4− 0.2− 0 0.2 0.4 0.6 0.8 1
0

10000

20000

30000

40000

50000

xsec_23

 rebinningµν

 = 0.000µAsimov, 

 = 0.178σ = 0.029 µRebin: 

 = 0.212σ = 0.017 µRebin2: 

 = 0.210σ = 0.032 µNom: 

xsec_23



1− 0.8− 0.6− 0.4− 0.2− 0 0.2 0.4 0.6 0.8 1
0

5000

10000

15000

20000

25000

30000

xsec_24

 rebinningµν

 = 0.000µAsimov, 

 = 0.309σ = 0.073 µRebin: 

 = 0.328σ = 0.048 µRebin2: 

 = 0.348σ = 0.040 µNom: 

xsec_24



1− 0.8− 0.6− 0.4− 0.2− 0 0.2 0.4 0.6 0.8 1
0

10000

20000

30000

40000

50000

60000

70000

xsec_25

 rebinningµν

 = 0.000µAsimov, 

 = 0.125σ = 0.014 µRebin: 

 = 0.146σ = 0.006 µRebin2: 

 = 0.149σ = 0.018 µNom: 

xsec_25



Param. no (flux)
0 20 40 60 80 100

0.7

0.8
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Rebin

Rebin

Rebin2

Nom.

Rebin



Param. no (xsec)
100 105 110 115 120 125

0.5−

0

0.5

1

1.5

2

2.5

Rebin

Rebin2

Nom.

Rebin
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